



HOKKAIDO UNIVERSITY

Title	Supersymmetric methods for constructing soliton-type solutions to multi-component nonlinear Schrödinger and Klein-Gordon equations
Author(s)	Arai, A.
Citation	Hokkaido University Preprint Series in Mathematics, 508, 1-22
Issue Date	2000-12-01
DOI	https://doi.org/10.14943/83654
Doc URL	https://hdl.handle.net/2115/69258
Type	departmental bulletin paper
File Information	re508.pdf



**Supersymmetric Methods for Constructing
Soliton-type Solutions to Multi-component
nonlinear Schrödinger and Klein-Gordon
Equations**

Asao Arai

Series #508. December 2000

HOKKAIDO UNIVERSITY
PREPRINT SERIES IN MATHEMATICS

- #483 N. H. Bingham and A. Inoue, Abelian, Tauberian and Mercerian theorems for arithmetic sums, 29 pages. 2000.
- #484 I. A. Bogachev and G. Ishikawa, Lagrange mappings of the first open Whitney umbrella, 22 pages. 2000.
- #485 A. Arai and H. Kawano, A class of deformations of the Schrödinger representation of the Heisenberg commutation relation and exact solution to a Heisenberg equation and a Schrödinger equation, 22 pages. 2000.
- #486 T. Nakazi, Functions in N_+ with the positive real parts on the boundary, 21 pages. 2000.
- #487 Y. Shibukawa, Classification of the R -operator, 36 pages. 2000.
- #488 A. Inoue, Asymptotic behaviour for partial autocorrelation functions of fractional ARIMA processes, 20 pages. 2000.
- #489 S. Ohtani, Construction of unramified Galois extensions over maximal abelian extensions of algebraic number fields, 14 pages. 2000.
- #490 T. Nakazi and T. Yamamoto, The real part of an outer function and a Helson-Szegö weight, 13 pages. 2000.
- #491 A. Yamagami, On Gouvêas conjecture on controlling the conductor, 11 pages. 2000.
- #492 I. Tsuda and M. Hatakeyama, Making sense of internal logic: Theory and a case study, 10 pages. 2000.
- #493 I. Tsuda, Towards an interpretation of dynamic neural activity in terms of chaotic dynamical systems, 73 pages. 2000.
- #494 T. Mikami, Optimal control for absolutely continuous stochastic processes and the mass transportation problem, 17 pages. 2000.
- #495 M. Arisawa and Y. Giga, Anisotropic curvature flow in a very thin domain, 21 pages. 2000.
- #496 T. Nakazi, Backward shift invariant subspaces in the bidisc, 9 pages. 2000.
- #497 Y. Giga, K. Inui, J. Kato and S. Matsui, Remarks on the uniqueness of bounded solutions of the Navier-Stokes equations, 4 pages. 2000.
- #498 Y. Giga, M. Paolini and P. Rybka, On the motion by singular interfacial energy, 21 pages. 2000.
- #499 J. Escher and Y. Giga, On a limiting motion and self-interactions of curves moved by the intermediate surface diffusion flow, 12 pages. 2000.
- #500 I. Tsuda and S. Kuroda, Cantor coding in the hippocampus, 20 pages. 2000.
- #501 M. Tsujii, Fat solenoidal attractors, 20 pages. 2000.
- #502 A. Arai, Ground state of the massless Nelson model without infrared cutoff in a non-Fock representation, 19 pages. 2000.
- #503 Y. Giga, S. Matsui and O. Sawada, Global existence of two-dimensional Navier-Stokes flow with nondecaying initial velocity, 19 pages. 2000.
- #504 A. Inoue and Y. Kasahara, Partial autocorrelation functions of the fractional ARIMA processes with negative degree of differencing, 14 pages. 2000.
- #505 T. Nakazi, Interpolation problem for ℓ^1 and a uniform algebra, 12 pages. 2000.
- #506 R. Kobayashi and Y. Giga, On anisotropy and curvature effects for growing crystals, 38 pages. 2000.
- #507 A. Arai, Instability in the spectral and the Fredholm properties of an infinite dimensional Dirac operator on the abstract Boson-Fermion Fock space, 6 pages. 2000.

Supersymmetric Methods for Constructing Soliton-type Solutions to Multi-component nonlinear Schrödinger and Klein-Gordon Equations

Asao Arai*

Department of Mathematics

Hokkaido University

Sapporo, 060-0810, Japan

E-mail: arai@math.sci.hokudai.ac.jp

December 11, 2000

Abstract

We consider a multi-component nonlinear partial differential equation in the two-dimensional space-time $\mathbf{R}^2$ which unifies Schrödinger and Klein-Gordon equations in $\mathbf{R}^2$. By supersymmetric methods connected with shape-invariant potentials, we show that a class of soliton-type solutions to the equation can be constructed from solutions to nonlinear equations of some types for superpotentials. Moreover we present new soliton-type solutions which are written in terms of q -deformed hyperbolic functions.

Key words: nonlinear Schrödinger equation, nonlinear Klein-Gordon equation, soliton, supersymmetry, superpotential, shape-invariant potential, q -deformed hyperbolic function

1 Introduction

In this paper we present soliton-type solutions to the following nonlinear partial differential equation for a $\mathbf{C}^N$ -valued function

$$\Psi(x, t) = (\Psi_1(x, t), \dots, \Psi_N(x, t))$$

*Supported by the Grant-In-Aid No. 11440036 for Scientific Research from the Ministry of Education, Science, Sports and Culture, Japan.

on the two-dimensional space-time $\mathbf{R}^2 = \{(x, t) | x, t \in \mathbf{R}\}$ ($N \geq 1$):

$$i\alpha \frac{\partial \Psi(x, t)}{\partial t} + \beta \frac{\partial \Psi(x, t)}{\partial x} + \gamma \frac{\partial^2 \Psi(x, t)}{\partial t^2} + \frac{\partial^2 \Psi(x, t)}{\partial x^2} + \rho \Psi(x, t) + \kappa |\Psi(x, t)|^{2p} \Psi(x, t) = 0, \quad (1.1)$$

where $\alpha, \beta, \gamma, \rho, \kappa \in \mathbf{C}$ ($\kappa \neq 0$), $p \in \mathbf{R} \setminus \{0\}$ (not necessarily an integer) are constants and

$$|\Psi(x, t)|^2 := \sum_{n=1}^N |\Psi_n(x, t)|^2.$$

Eq.(1.1) unifies N -component nonlinear Schrödinger and Klein-Gordon equations on $\mathbf{R}^2$. The basic idea of the method taken in the present paper comes from a paper [3] which discusses a use of supersymmetric quantum mechanics in constructing soliton-type solutions to a multi-component nonlinear Schrödinger equation on $\mathbf{R}^2$

$$i \frac{\partial \Phi(x, t)}{\partial t} + \frac{\partial^2 \Phi(x, t)}{\partial x^2} + \kappa |\Phi(x, t)|^2 \Phi(x, t) = 0, \quad (1.2)$$

the case of (1.1) with $p = 1$, $\alpha = 1, \beta = 0, \gamma = 0, \rho = 0$. Our primary concern is to clarify relations between supersymmetric structures and soliton-type solutions to Eq.(1.1). We show that there exists a correspondence from solutions of a nonlinear differential equation to soliton-type solutions of (1.1) (see Propositions 3.1, 3.3 and 4.2). Then, using this structure and results on supersymmetric quantum mechanics connected with shape-invariant potentials [1], we find new soliton-type solutions to (1.1) in the following cases: (i) $N = 1, p \in \mathbf{R} \setminus \{0, -1\}$:arbitrary ; (ii) $N = 2, p = 1$; (iii) $N = 3, p = 1$. These solutions are written in terms of q -deformed hyperbolic functions with $q > 0$.

2 Basic facts

We seek solutions $\Psi = (\Psi_1, \dots, \Psi_N)$ to (1.1) in the form

$$\Psi_n(x, t) = e^{i\theta_n(x, t)} \psi_n(x - vt), \quad n = 1, \dots, N, \quad (2.1)$$

where $v \in \mathbf{R}$ is a constant,

$$\theta_n(x, t) := \mu_n x - \omega_n t \quad (2.2)$$

with $\mu_n, \omega_n \in \mathbf{R}$ being constants and ψ_n is a twice continuously differentiable function on $\mathbf{R}$. This is a soliton-type solution. We assume that μ_n and ω_n satisfy

$$\mu_n = \frac{1}{2i} (i\alpha v - 2i\omega_n v\gamma - \beta), \quad (2.3)$$

$$2\omega_n v \Im \gamma = v \Im \alpha + \Re \beta. \quad (2.4)$$

Condition (2.4), which ensures that μ_n is a real number, implies that, if $v \Im \gamma \neq 0$, then $\omega_n = (v \Im \alpha + \Re \beta) / (2v \Im \gamma)$ independently of n , but, if $v \Im \gamma = 0$, then only $v \Im \alpha + \Re \beta = 0$.

We set

$$a := 1 + \gamma v^2, \quad (2.5)$$

$$b_n := \alpha \omega_n - \gamma \omega_n^2 - \mu_n^2 + \rho + i\beta \mu_n, \quad (2.6)$$

$$(2.7)$$

The following fact is the starting point of our analysis here:

Lemma 2.1 *The function $\Psi := (\Psi_1, \dots, \Psi_N)$ with Ψ_n given by (2.1) ($n = 1, \dots, N$) is a solution to (1.1) if and only if, for each $n = 1, \dots, N$,*

$$a \frac{d^2 \psi_n(x)}{dx^2} + \kappa \left(\sum_{j=1}^N |\psi_j(x)|^2 \right)^p \psi_n(x) + b_n \psi_n(x) = 0. \quad (2.8)$$

Proof. Direct computation. $\square$

By Lemma 2.1, we try to construct solutions $\psi = (\psi_1, \dots, \psi_N)$ to Eq.(2.8). A basic general idea for that is stated in the following lemma.

Lemma 2.2 *Let N be fixed and V be a function on $\mathbf{R}$ such that there exist N twice differentiable functions ψ_n^V on $\mathbf{R}$ and constants E_n ($n = 1, \dots, N$) satisfying*

$$- \frac{d^2 \psi_n^V(x)}{dx^2} + V(x) \psi_n^V(x) = E_n \psi_n^V(x). \quad (2.9)$$

and

$$aV(x) + \kappa \left(\sum_{j=1}^N |\psi_j^V(x)|^2 \right)^p + K = 0 \quad (2.10)$$

with $K := b_n - aE_n$ independently of $n = 1, \dots, N$. Then

$$\Psi^V(x) := (e^{i\theta_1(x,t)} \psi_1^V(x - vt), \dots, e^{i\theta_N(x,t)} \psi_N^V(x - vt)) \quad (2.11)$$

is a solution to (1.1).

Proof. Eq.(2.9) and (2.10) imply (2.8) with $\psi_n = \psi_n^V$. $\square$

Lemma 2.2 relates (1.1) to the eigenvalue problem of the Schrödinger operator $-d^2/dx^2 + V$.

In general it would be difficult to find a potential V having the properties described in the assumption of Lemma 2.2. But we show below that a use of an idea of supersymmetry makes it possible to find such potentials V .

We shall discuss the case $N = 1$ and the case $N \geq 2$ separately.

Remark 2.1 We can consider also “local” soliton solutions to Eq.(1.1) which are of the form Ψ with (2.1), but, defined only in $\{(x, t) \in \mathbf{R}^2 | L_1 < x - vt < L_2\}$ with L_1 and L_2 being finite real constants. Such solutions can be constructed from local solutions of (2.8) on the interval (L_1, L_2) . Indeed, we show that, in the case $N = 1$, local solutions to Eq.(1.1) exist (see Proposition 3.4).

3 Solutions in the case $N = 1$

3.1 General aspects

We first review a model of supersymmetric quantum mechanics introduced by Witten [5]. In the present paper, we do not discuss the model in Hilbert space framework. For the purpose here, it is enough to work in the algebraic vector space

$$\mathcal{V} := C^\infty(\mathbf{R}), \quad (3.1)$$

the vector space of infinitely differentiable functions on $\mathbf{R}$.

For a real-valued function $W \in \mathcal{V}$, we introduce linear operators

$$A_W := -\frac{d}{dx} + W, \quad A_W^+ := \frac{d}{dx} + W. \quad (3.2)$$

acting on $\mathcal{V}$ and define

$$H_W^+ := A_W^+ A_W, \quad H_W^- := A_W A_W^+. \quad (3.3)$$

We have

$$H_W^\pm = -\frac{d^2}{dx^2} + V_W^\pm, \quad (3.4)$$

where

$$V_W^\pm := W^2 \pm W' \quad (3.5)$$

($W' := dW/dx$). The pair (H_W^+, H_W^-) defines a supersymmetric Hamiltonian [5]. In supersymmetric quantum mechanics, the function W is called a *superpotential*.

Let $c \neq 0$ be a non-zero complex constant and

$$\Omega_{W,c}(x) := ce^{\int_0^x W(y)dy}. \quad (3.6)$$

Then $\Omega_W \in \mathcal{V}$ and

$$A_W \Omega_{W,c} = 0. \quad (3.7)$$

Hence

$$H_W^+ \Omega_{W,c} = 0, \quad (3.8)$$

which implies that

$$-\frac{d^2 \Omega_{W,c}(x)}{dx^2} + V_W^+(x) \Omega_{W,c}(x) = 0. \quad (3.9)$$

Hence we can apply Lemma 2.2 with $N = 1$ to obtain the following proposition. In the case $N = 1$, we set

$$\omega := \omega_1, \quad \mu := \mu_1, \quad b := b_1, \quad \theta := \theta_1. \quad (3.10)$$

Proposition 3.1 *The function*

$$\Psi_W(x, t) := e^{i\theta(x,t)} \Omega_{W,c}(x - vt) \quad (3.11)$$

is a solution to Eq.(1.1) with $N = 1$ if and only if W satisfies

$$a[W(x)^2 + W'(x)] + \kappa|c|^{2p} e^{2p \int_0^x W(y)dy} + b = 0. \quad (3.12)$$

Proof. In Lemma 2.2, we need only consider the case where $N = 1$, $V = V_W^+$, $\psi_1^V = \Omega_{W,c}$ and $E_1 = 0$. $\square$

Proposition 3.1 gives an interesting correspondence between a solution W to the non-linear integro-differential equation (3.12) and a solution to (1.1) with $N = 1$.

In view of Proposition 3.1, it is important to find all the solutions to Eq.(3.12).

If we put

$$\phi(x) := \int_0^x W(y)dy + \Lambda$$

with Λ being an arbitrary constant, then Eq.(3.12) takes the form

$$\phi''(x) + \phi'(x)^2 + Ae^{2p\phi(x)} + B = 0 \quad (3.13)$$

with $A = \kappa|c|^{2p}e^{-2p\Lambda}/a$ and $B = b/a$, provided that $a \neq 0$. We shall give a detailed analysis of Eq.(3.13) in Appendix of the present paper and classify solutions to Eq.(3.13).

We may also make use of the supersymmetric partner H_W^- to construct solutions to (1.1). A key fact for that is the following characteristic structure of a supersymmetric Hamiltonian (cf. [1, Lemma 2.2]).

Lemma 3.2 *Let $H_W^- f = Ef$ with $f \in \mathcal{V}$ and E a constant. Let $g := A_W^+ f$. Then $H_W^+ g = Eg$.*

Proof. Direct computation using definition (3.3). $\square$

We take another superpotential U on $\mathbf{R}$ such that

$$V_U^+ + E = V_W^- \quad (3.14)$$

with E a constant.

Proposition 3.3 *Assume (3.14). Let*

$$\psi_E := A_W^+ \Omega_{U,c} \quad (3.15)$$

with $c \in \mathbf{C}$ a non-zero constant. Suppose that

$$a(W(x)^2 + W'(x)) + \kappa|\psi_E(x)|^{2p} + b - aE = 0. \quad (3.16)$$

Then the function $\Psi(x, t) := e^{i\theta(x,t)}\psi_E(x - vt)$ is a solution to Eq.(1.1) with $N = 1$.

Proof. By (3.14), we have $H_W^- = H_U^+ + E$. Hence

$$H_W^- \Omega_{U,c} = (H_U^+ + E)\Omega_{U,c} = E\Omega_{U,c}. \quad (3.17)$$

By (3.15) and Lemma 3.2, we have $H_W^+ \psi_E = E\psi_E$. Thus an application of Lemma 2.2 with $N = 1$ gives the desired result. $\square$

Remark 3.1 For a given $W \in \mathcal{V}$, Eq.(3.14) for U is a differential equation of Riccati type. Hence general solutions to Eq.(3.14) can be constructed from its special solutions. For example, let U_1 be a special solution to Eq.(3.14) and $F_1(x) := \int U_1(x)dx$. Then

$$U := U_1 + \frac{e^{-2F_1}}{\int e^{-2F_1} dx + c}$$

is a general solution to Eq.(3.14) with c being an arbitrary constant.

3.2 Exact solutions

Let $c \neq 0$ be a complex constant, and D and Λ be real constants. In the case $a \neq 0$, we define a function g_p on $\mathbf{R}$ by

$$g_p(y) := \begin{cases} -\frac{\kappa|c|^{2p}e^{-2p\Lambda}}{a(1+p)}e^{2py} + De^{-2y} - \frac{b}{a}, & p \neq -1, \\ \left(D - \frac{2\kappa e^{2\Lambda}}{|c|^2a}y\right)e^{-2y} - \frac{b}{a}, & p = -1 \end{cases} \quad (3.18)$$

($y \in \mathbf{R}$).

The following proposition describes general structures of solutions to Eq.(1.1).

Proposition 3.4 *Assume that $a \neq 0$. Let G_p be a primitive function of either $1/\sqrt{g_p}$ or $-1/\sqrt{g_p}$ on*

$$D_+ := \{y \in \mathbf{R} | g_p(y) > 0\}, \quad (3.19)$$

and G_p^{-1} denote the inverse function of G_p .

(i) *For every open interval $J \subset D_+$,*

$$\Psi(x, t) := ce^{i\theta(x,t)}e^{-\Lambda}e^{G_p^{-1}(x-vt)} \quad (3.20)$$

is a solution to Eq.(1.1) with $N = 1$ on $\{(x, t) | x - vt \in G_p(J)\}$.

(ii) *Suppose that there exists an open interval $J \subset D_+$ such that $G_p(J) = (0, L)$ with $L > 0$ or $L = \infty$ and*

$$G_p^{-1}(0) := \lim_{x \downarrow 0} G_p^{-1}(x) \text{ exists and } g_p(G_p^{-1}(0)) = 0. \quad (3.21)$$

Let

$$\phi_p(x) := \begin{cases} G_p^{-1}(x) & x \in [0, L) \\ G_p^{-1}(-x) & x \in (-L, 0) \end{cases}. \quad (3.22)$$

Then

$$\Psi(x, t) := ce^{i\theta(x,t)}e^{-\Lambda}e^{\phi_p(x-vt)} \quad (3.23)$$

is a solution to Eq.(1.1) with $N = 1$ on $\{(x, t) | x - vt \in (-L, L)\}$.

Proof. (i) By Proposition B.3-(i), $\phi(x) = G_p^{-1}(x)$ is a solution to Eq.(3.13). In this case, we have $\Omega_{W,c}(x) = ce^{-\Lambda}e^{G_p^{-1}(x)}$. Thus the desired result follows.

(ii) Similar to part (i) (an application of Proposition B.3-(ii)). $\square$

Remark 3.2 More concrete forms of $G_p(y)$ can be found by applying the results in Sections C–E in Appendix. But we omit the details here.

Some of solutions given in Proposition 3.4 may be global in (x, t) and have explicit representations. To write down one of them, we recall q -deformed hyperbolic functions which were introduced in [1]:

$$\sinh_q x := \frac{e^x - qe^{-x}}{2}, \quad \cosh_q x := \frac{e^x + qe^{-x}}{2}, \quad (3.24)$$

$$\tanh_q x := \frac{\sinh_q x}{\cosh_q x}, \quad \operatorname{sech}_q x := \frac{1}{\cosh_q x}, \quad x \in \mathbf{R}, \quad (3.25)$$

where $q > 0$ is a deformation parameter. Note that, if $q \neq 1$, then $\sinh_q x$ is not odd and $\cosh_q x$ is not even:

$$\sinh_q(-x) = -q \sinh_{1/q} x, \quad \cosh_q(-x) = q \cosh_{1/q} x, \quad x \in \mathbf{R}. \quad (3.26)$$

The following formulas can be easily proven:

$$(\sinh_q x)' = \cosh_q x, \quad (3.27)$$

$$(\cosh_q x)' = \sinh_q x, \quad (3.28)$$

$$\cosh_q^2 x - \sinh_q^2 x = q, \quad (3.29)$$

$$(\tanh_q x)' = q \operatorname{sech}_q^2 x, \quad (3.30)$$

$$(\operatorname{sech}_q x)' = -(\tanh_q x)(\operatorname{sech}_q x), \quad (3.31)$$

$$\tanh_q^2 x = 1 - q \operatorname{sech}_q^2 x. \quad (3.32)$$

Lemma 3.5 *For all $s \in \mathbf{R}$, the function*

$$W_s(x) := -s \tanh_q(spx) \quad (3.33)$$

on $\mathbf{R}$ satisfies the equation

$$W_s(x)^2 + W_s'(x) + \frac{4s^2(1+p)q}{(1+q)^2} e^{2p \int_0^x W_s(y) dy} - s^2 = 0. \quad (3.34)$$

Proof. Let $p \neq 0$. Then, by (3.28), we have

$$\int_0^x W_s(y) dy = -\frac{1}{p} \log \cosh_q(spx) + \frac{1}{p} \log \frac{1+q}{2}. \quad (3.35)$$

This fact together with (3.30) and (3.32) implies (3.34). By the fact that

$$\tanh_q 0 = \frac{1-q}{1+q},$$

one can easily see that Eq.(3.34) with $p = 0$ holds. $\square$

Lemma 3.5 implies that W_s is a solution to Eq.(3.12) with $b = -as^2$, $\kappa|c|^{2p} = 4as^2(1+p)q/(1+q)^2$. By (3.35), we have for $p \neq 0$

$$e^{\int_0^x W_s(y) dy} = \left(\frac{1+q}{2} \right)^{1/p} \operatorname{sech}_q^{1/p}(spx). \quad (3.36)$$

Thus we have the following result:

Theorem 3.6 *Let $p \neq 0$. Suppose that $\kappa \in \mathbf{R}$ and*

$$\frac{a(1+p)}{\kappa} > 0, \quad b + as^2 = 0. \quad (3.37)$$

Then the function

$$\Psi_{s,q,p}(x, t) := \left(\frac{a(1+p)qs^2}{\kappa} \right)^{1/2p} e^{i\theta(x,t)} \operatorname{sech}_q^{1/p}[sp(x - vt)] \quad (3.38)$$

is a solution to Eq.(1.1).

Remark 3.3 The function $\Psi_{s,1,1}$ (the case $q = p = 1$) is a well-known soliton solution (up to constant multiples) to the nonlinear Schrödinger equation (1.2)(e.g., [3]). Hence Theorem 3.6 gives a generalization of a soliton of this type.

We next give a simple application of Proposition 3.3 with $W = W_s$. Let us consider the case $p = 1$ and set

$$Y(s) := -s \tanh_q(sx).$$

Then we have

$$Y^2 - Y' = s^2.$$

Hence (3.14) hold with $W = Y$, $U = 0$ and $E = s^2$. In this case,

$$\psi_E = cY.$$

Hence, if we take

$$b = 2as^2, \quad |c|^2 = -\frac{2a}{\kappa}$$

then (3.16) is satisfied. Thus, by Proposition 3.1, we obtain the following result.

Theorem 3.7 *Let $b = 2as^2$ and $a/\kappa < 0$. Then*

$$\Psi(x, t) := -s\sqrt{-2a/\kappa} e^{i\theta(x,t)} \tanh_q s(x - vt) \quad (3.39)$$

is a solution to Eq.(1.1) with $N = 1$ and $p = 1$.

4 Solutions in the Case $N \geq 2$

4.1 Supersymmetry with shape-invariant potentials

For the case $N \geq 2$, we consider a family of supersymmetric Hamiltonians, generalizing an idea suggested in [3]. Let Λ be a subset of $\mathbf{R}$ and $\{W_\lambda\}_{\lambda \in \Lambda} \subset \mathcal{V}$. As in the case $N = 1$, we introduce linear operators

$$A(\lambda) := -\frac{d}{dx} + W_\lambda, \quad A(\lambda)^+ := \frac{d}{dx} + W_\lambda \quad (4.1)$$

acting on $\mathcal{V}$ and define

$$H_+(\lambda) := A(\lambda)^+ A(\lambda), \quad H_-(\lambda) := A(\lambda) A(\lambda)^+ \quad (4.2)$$

We have

$$H_\pm(\lambda) = -\frac{d^2}{dx^2} + V_\lambda^\pm, \quad (4.3)$$

where

$$V_\lambda^\pm := W_\lambda^2 \pm W'_\lambda. \quad (4.4)$$

We assume the following:

Hypothesis (W) There exist mappings $f : \Lambda \rightarrow \Lambda$ and $F : f(\Lambda) \rightarrow \mathbf{R}$ such that for all $\lambda \in \Lambda$

$$V_{f(\lambda)}^+ + F(f(\lambda)) = V_\lambda^-. \quad (4.5)$$

Remark 4.1 In the physics literature, the functions $V_\lambda^\pm$ satisfying (4.5) are called *shape-invariant potentials*. This notion was first introduced by Gendenshtein [2] and developed by many theoretical physicists (e.g., see [4]). The abstract mathematical formulation extending the idea of shape-invariant potentials was given in [1].

We write as $f^0(\lambda) := \lambda$, $f^n(\lambda) := f(f^{n-1}(\lambda))$, $n \geq 1$.

Lemma 4.1 Assume (W). Let

$$E_1(\lambda) := 0, \quad (4.6)$$

$$E_n(\lambda) := \sum_{j=1}^{n-1} F(f^j(\lambda)), \quad n \geq 2, \quad (4.7)$$

$$\psi_{1,\lambda}(x) := e^{\int_0^x W_\lambda(y) dy}, \quad (4.8)$$

$$\psi_{n,\lambda} := A(\lambda)^+ A(f(\lambda))^+ \cdots A(f^{n-2}(\lambda))^+ \psi_{1,f^{n-1}(\lambda)}, \quad n \geq 2. \quad (4.9)$$

Then, for all $\lambda \in \Lambda$,

$$H_+(\lambda) \psi_{n,\lambda} = E_n(\lambda) \psi_{n,\lambda}, \quad n \geq 1. \quad (4.10)$$

Proof. We prove (4.10) by induction. As in the case of (3.8), (4.10) holds for $n = 1$. Suppose that (4.10) holds for some n . We have

$$\begin{aligned} H_+(\lambda)\psi_{n+1,\lambda} &= A(\lambda)^+ H_-(\lambda) A(f(\lambda))^+ \cdots A(f^{n-1}(\lambda))^+ \psi_{1,f^n(\lambda)} \\ &= A(\lambda)^+ H_-(\lambda) \psi_{n,f(\lambda)}. \end{aligned} \quad (4.11)$$

By Hypothesis (W), we have

$$H_-(\lambda) = H_+(f(\lambda)) + F(f(\lambda)). \quad (4.12)$$

Putting this equation into (4.11) and using the induction hypothesis (4.10), we have

$$H_+(\lambda)\psi_{n+1,\lambda} = [E_n(f(\lambda)) + F(f(\lambda))]\psi_{n+1,\lambda} = E_{n+1}(\lambda)\psi_{n+1,\lambda}.$$

Hence (4.10) holds also for $n + 1$. $\square$

Lemma 4.1 implies that, under Hypothesis (W), for all $n \geq 1$,

$$-\frac{d^2\psi_{n,\lambda}}{dx^2} + V_\lambda^+ \psi_{n,\lambda} = E_n(\lambda)\psi_{n,\lambda}. \quad (4.13)$$

By this fact and Lemma 2.2, we obtain the following fact:

Proposition 4.2 *Let $N \geq 2$ be fixed. Assume (W). Suppose that*

$$aV_\lambda^+(x) + \kappa \left(\sum_{j=1}^N |c_j|^2 |\psi_{j,\lambda}(x)|^2 \right)^p + K = 0, \quad x \in \mathbf{R}, \quad (4.14)$$

with c_j 's being complex constants,

$$K := b_n - aE_n(\lambda) \quad (4.15)$$

independently of $n = 1, \dots, N$. Then

$$\Psi_\lambda(x, t) := (c_1 e^{i\theta_1(x,t)} \psi_{1,\lambda}(x - vt), \dots, c_N e^{i\theta_N(x,t)} \psi_{N,\lambda}(x - vt)) \quad (4.16)$$

is a solution to (1.1).

Let $\phi_\lambda(x) := \int_0^x W_\lambda(y) dy + \eta_\lambda$ with $\eta_\lambda \in \mathbf{R}$ being a constant. Then Eq.(4.14) is a nonlinear differential equation for $\{\phi_\lambda\}_{\lambda \in \Lambda}$. Hence Proposition 4.2 gives a relation of a nonlinear differential equation to soliton-type solutions of (1.1).

Remark 4.2 As in Lemma 3.2, we have

$$H_-(\lambda)A(\lambda)\psi_{n,\lambda} = E_n(\lambda)A(\lambda)\psi_{n,\lambda}. \quad (4.17)$$

On the other hand, we can show that

$$A(\lambda)\psi_{n,\lambda} = E_n(\lambda)\psi_{n-1,f(\lambda)}. \quad (4.18)$$

Hence, if $E_n(\lambda) \neq 0$, then

$$H_-(\lambda)\psi_{n-1,f(\lambda)} = E_n(\lambda)\psi_{n-1,f(\lambda)}. \quad (4.19)$$

4.2 Exact solutions in the case $N = 2$ and $p = 1$

Let $s \in \mathbf{R}$ and consider the case where the superpotential W_λ is given by

$$W_\lambda(x) := -\lambda \tanh_q(sx), \quad \lambda \in \mathbf{R}. \quad (4.20)$$

Then the functions $V_\lambda^\pm$ defined by (4.4) take the form

$$V_\lambda^\pm = -\lambda(\lambda \pm s)q \operatorname{sech}_q^2(sx) + \lambda^2. \quad (4.21)$$

Let

$$f_s(\lambda) = \lambda - s, \quad F_s(\lambda) := (\lambda + s)^2 - \lambda^2 = 2\lambda s + s^2. \quad (4.22)$$

Then it is easy to see that

$$V_{f_s(\lambda)}^+ + F_s(f_s(\lambda)) = V_\lambda^-. \quad (4.23)$$

Hence, for each s , W_λ satisfies Hypothesis (W) with $\Lambda = \mathbf{R}$, $F = F_s$ and $f = f_s$. Thus we can apply Lemma 4.1 and Proposition 4.2. To do that, however, we need compute the left hand side of (4.14) in the present case.

We consider only the simplest case $p = 1$ in nonlinearity. Let

$$L_{\lambda,s}^{(N)}(x) := aV_\lambda^+(x) + \kappa \left(\sum_{j=1}^N |c_j|^2 |\psi_{j,\lambda}(x)|^2 \right) + K \quad (4.24)$$

and

$$h := \frac{1+q}{2}. \quad (4.25)$$

In the present case, we see that

$$E_n(\lambda) = \sum_{j=1}^{n-1} F_s(f_s^j(\lambda)) = (n-1)s[2\lambda - (n-1)s], \quad (4.26)$$

$$\psi_{1,\lambda}(x) = h^{\lambda/s} \operatorname{sech}_q^{\lambda/s}(sx), \quad (4.27)$$

$$\psi_{2,\lambda}(x) = (s-2\lambda)h^{(\lambda-s)/s} \tanh_q(sx) \operatorname{sech}_q^{(\lambda-s)/s}(sx). \quad (4.28)$$

Using this expression, we can show that

$$\begin{aligned} L_{\lambda,s}^{(2)}(x) &= -a\lambda(\lambda+s)q \operatorname{sech}_q^2(sx) + a\lambda^2 + K \\ &\quad + \kappa \left(|c_1|^2 h^{2\lambda/s} - |c_2|^2 (2\lambda-s)^2 q h^{2(\lambda-s)/s} \right) \operatorname{sech}_q^{2\lambda/s}(sx) \\ &\quad + \kappa |c_2|^2 (2\lambda-s)^2 h^{2(\lambda-s)/s} \operatorname{sech}_q^{2(\lambda-s)/s}(sx). \end{aligned} \quad (4.29)$$

There are two ways to have $L_{\lambda,s}^{(2)} = 0$. One of them is to take $s = \lambda$. Then $L_{\lambda,\lambda}^{(2)} = 0$ if and only if

$$K = -\lambda^2(a + \kappa|c_2|^2), \quad (4.30)$$

$$\kappa(|c_1|^2 h^2 - |c_2|^2 \lambda^2 q) = 2a\lambda^2 q. \quad (4.31)$$

Hence we need only take b_n ($n = 1, 2$) as

$$b_1 = -\lambda^2(a + \kappa|c_2|^2), \quad (4.32)$$

$$b_2 = -\kappa|c_2|^2 \lambda^2 \quad (4.33)$$

to have (4.15) for $N = 2$. Thus we obtain the following result.

Theorem 4.3 Suppose that (4.31)–(4.33) hold. Then

$$\Psi(x, t) := \left(c_1 e^{i\theta_1(x, t)} h \operatorname{sech}_q \lambda(x - vt), -c_2 \lambda e^{i\theta_2(x, t)} \tanh_q \lambda(x - vt) \right) \quad (4.34)$$

is a solution to Eq.(1.1) with $N = 2$ and $p = 1$.

The other way to have $L_{\lambda, s}^{(2)} = 0$ is to take $s = \lambda/2$. Let $\lambda \neq 0$. Then $L_{\lambda, \lambda/2}^{(2)} = 0$ if and only if

$$K = -a\lambda^2, \quad (4.35)$$

$$aq = \frac{3}{2} \kappa |c_2|^2 h^2. \quad (4.36)$$

$$|c_1|^2 h^2 - |c_2|^2 \left(\frac{3\lambda}{2} \right)^2 q = 0, \quad (4.37)$$

In this case we need only to take b_n as

$$b_1 = -a\lambda^2, \quad b_2 = -\frac{a\lambda^2}{4} \quad (4.38)$$

to have (4.15) for $N = 2$. Thus we obtain the following result.

Theorem 4.4 Let $\lambda \neq 0$ and suppose that (4.36)–(4.38) hold. Then

$$\begin{aligned} \Psi(x, t) := & \left(c_1 e^{i\theta_1(x, t)} h^2 \operatorname{sech}_q^2 \frac{\lambda(x - vt)}{2}, \right. \\ & \left. -\frac{3}{2} \lambda h c_2 e^{i\theta_2(x, t)} \tanh_q \frac{\lambda(x - vt)}{2} \operatorname{sech}_q \frac{\lambda(x - vt)}{2} \right) \end{aligned} \quad (4.39)$$

is a solution to Eq.(1.1) with $N = 2$ and $p = 1$.

4.3 Exact solutions in the case $N = 3$ and $p = 1$

We next consider the case $N = 3$ and $p = 1$. We have

$$\begin{aligned} \psi_{3, \lambda}(x) = & (3s - 2\lambda) h^{(\lambda-2s)/s} \\ & \times \left\{ q(2\lambda - s) \operatorname{sech}_q^{\lambda/s}(sx) - 2(\lambda - s) \operatorname{sech}_q^{(\lambda-2s)/s}(sx) \right\}. \end{aligned} \quad (4.40)$$

Hence we obtain

$$\begin{aligned} L_{\lambda, s}^{(3)}(x) = & a\lambda^2 + K - a\lambda(\lambda + s)q \operatorname{sech}_q^2(sx) \\ & + \kappa \left\{ |c_1|^2 h^{2\lambda/s} - |c_2|^2 (2\lambda - s)^2 q h^{2(\lambda-s)/s} \right. \\ & \left. + |c_3|^2 h^{2(\lambda-2s)/s} q^2 (2\lambda - s)^2 \right\} \operatorname{sech}_q^{2\lambda/s}(sx) \\ & + \kappa \left\{ |c_2|^2 (2\lambda - s)^2 h^{2(\lambda-s)/s} - 4|c_3|^2 h^{2(\lambda-2s)/s} (2\lambda - s)(\lambda - s) \right\} \\ & \times \operatorname{sech}_q^{2(\lambda-s)/s}(sx) \\ & + 4\kappa |c_3|^2 (\lambda - s)^2 h^{2(\lambda-2s)/s} \operatorname{sech}_q^{2(\lambda-2s)/s}(sx). \end{aligned} \quad (4.41)$$

As in the preceeding case $N = 2$, there are two choices for s that gives $L_{\lambda, s}^{(3)} = 0$. The one is to take $s = \lambda$. In this case we obtain the following result.

Theorem 4.5 Suppose that b_1 and b_2 are given by (4.32) and (4.33) respectively, $b_3 = b_1$ and

$$\kappa(|c_1|^2 h^2 - |c_2|^2 \lambda^2 q + |c_3|^2 h^{-2} q^2 \lambda^2) = 2a\lambda^2 q. \quad (4.42)$$

Then

$$\begin{aligned} \Psi(x, t) := & \left(c_1 e^{i\theta_1(x,t)} h \operatorname{sech}_q \lambda(x - vt), -c_2 \lambda e^{i\theta_2(x,t)} \tanh_q \lambda(x - vt), \right. \\ & \left. c_3 e^{i\theta_3(x,t)} \lambda^2 h^{-1} q \operatorname{sech}_q \lambda(x - vt) \right) \end{aligned} \quad (4.43)$$

is a solution to Eq.(1.1) with $N = 3$ and $p = 1$.

The other choice is to take $s = \lambda/3$. In this case we obtain the following result.

Theorem 4.6 Suppose that

$$b_1 = -a\lambda^2, \quad (4.44)$$

$$b_2 = -\frac{4}{9}a\lambda^2, \quad (4.45)$$

$$b_3 = -\frac{1}{9}a\lambda^2, \quad (4.46)$$

$$|c_1|^2 h^4 - |c_2|^2 \left(\frac{5}{3}\lambda\right)^2 q h^2 + |c_3|^2 q^2 \left(\frac{5}{3}\lambda\right)^2 = 0, \quad (4.47)$$

$$|c_2|^2 h^2 = \frac{8}{3}|c_3|^2 q \lambda, \quad (4.48)$$

$$aq = \frac{4}{3}\kappa|c_3|^2 h^2. \quad (4.49)$$

Then

$$\begin{aligned} \Psi(x, t) := & \left(c_1 e^{i\theta_1(x,t)} h^3 \operatorname{sech}_q^3 \frac{\lambda(x - vt)}{3}, \right. \\ & -\frac{5}{3} c_2 e^{i\theta_2(x,t)} h^2 \lambda \tanh_q \frac{\lambda(x - vt)}{3} \operatorname{sech}_q^2 \frac{\lambda(x - vt)}{3}, \\ & \left. \frac{1}{3} \lambda^2 h c_3 e^{i\theta_3(x,t)} [5q \operatorname{sech}_q^3 \frac{\lambda(x - vt)}{3} - 4 \operatorname{sech}_q \frac{\lambda(x - vt)}{3}] \right) \end{aligned} \quad (4.50)$$

is a solution to Eq.(1.1) with $N = 3$ and $p = 1$.

In the same manner as above, one may continue to calculate $L_{\lambda,s}^{(N)}$ for $N \geq 4$ and check if there exist constants $c_j, j = 1, \dots, N$ such that $L_{\lambda,s}^{(N)} = 0$. It is an interesting problem to show whether or not, for all $N \geq 4$, there exist constants $c_j, j = 1, \dots, N$ such that $L_{\lambda,s}^{(N)} = 0$. But this problem is left open.

Appendix: Solutions to a nonlinear ordinary differential equation

A The equation considered and basic properties

In this appendix we consider the following nonlinear ordinary differential equation for a real-valued function f on an open interval $I \subset \mathbf{R}$:

$$f''(x) + f'(x)^2 + Ae^{kf(x)} + B = 0, \quad x \in I, \quad (\text{A.1})$$

where $f' = df/dx$, $f'' = d^2f/dx^2$, and A, B and k are real constants satisfying

$$A \neq 0, \quad k \neq 0. \quad (\text{A.2})$$

Remark A.1 If $A = 0$, then a general solution to Eq.(A.1) is given by

$$f(x) = \begin{cases} d + \log |\cos \sqrt{B}(x - c)|, & B > 0 \\ d + \log \cosh \sqrt{|B|}(x - c), & B < 0 \end{cases}, \quad (\text{A.3})$$

where c and d are arbitrary real constants. If $k = 0$, then then a general solution to Eq.(A.1) is given by (A.3) with B replaced by $A + B$.

Remark A.2 Every twice differentiable solution f to Eq.(A.1) on I is in fact infinitely differentiable on I . This is easily seen by writing (A.1) as

$$f''(x) = -f'(x)^2 - Ae^{kf(x)} - B. \quad (\text{A.4})$$

Lemma A.1 Let f be a solution to Eq.(A.1) and, for each $s \in \mathbf{R}$,

$$f_s(x) := f(sx), \quad sx \in I, \quad (\text{A.5})$$

a scaling of f . Then

$$f_s'' + f_s'^2 + s^2 Ae^{kf_s} + s^2 B = 0. \quad (\text{A.6})$$

Proof. Direct computation. □

Lemma A.1 shows a scaling law of Eq.(A.1).

Remark A.3 For each $t \in \mathbf{R}$, let $\tilde{f}_t(x) := f(x - t)$, $x \in I + t$. Then, if f is a solution to Eq.(A.1) on I , then $\tilde{f}_t$ is a solution to Eq.(A.1) on $I + t$. This is a translation invariance of Eq.(A.1).

Let $0 < L < \infty$ or $L = +\infty$. The following lemma concerns a continuation of a solution of Eq.(A.1) on the interval $(0, L)$ to a solution of Eq.(A.1) on $(-L, L)$.

Lemma A.2 Suppose that f is a solution to Eq.(A.1) on the interval $(0, L)$ such that $f(0) := \lim_{x \rightarrow 0, x > 0} f(x)$ exists and

$$\lim_{x \rightarrow 0, x > 0} f'(x) = 0. \quad (\text{A.7})$$

Let

$$F(x) := \begin{cases} f(x) & x \in [0, L) \\ f(-x) & x \in (-L, 0) \end{cases} \quad (\text{A.8})$$

Then F is a solution to Eq.(A.1) on $(-L, L)$ and $F \in C^\infty(-L, L)$.

Proof. Since $f(-x) = f_{-1}(x)$, it follows from Lemma A.1 that F satisfies Eq.(A.1) on $(-L, 0) \cup (0, L)$. It follows from the definition of F that F is continuous at $x = 0$ with $F(0) = f(0)$. By (A.7), $\lim_{x \rightarrow 0, x > 0} F'(x) = 0$ and

$$\lim_{x < 0, x \rightarrow 0} F'(x) = - \lim_{x < 0, x \rightarrow 0} f'(-x) = 0.$$

Hence F is differentiable at $x = 0$ with $F'(0) = 0$. Using (A.1), we have for all $x \in (-L, 0) \cup (0, L)$

$$\frac{F'(x) - F'(0)}{x} = \frac{1}{x} \int_0^x F''(y) dy = -\frac{1}{x} \int_0^x \{F'(y)^2 + Ae^{kF(y)} + B\} dy,$$

which implies that F' is differentiable at $x = 0$ with $F''(0) = -Ae^{kF(0)} - B$. Thus F is twice differentiable on $(-L, L)$ satisfying (A.1). By Remark A.2, F is infinitely differentiable on $(-L, L)$. $\square$

For $k \neq -2$, we set

$$c(A, k) := -\frac{2A}{2+k} \quad (\text{A.9})$$

and define a function g on $\mathbf{R}$ by

$$g(y) := \begin{cases} c(A, k)e^{ky} + Ce^{-2y} - B & k \neq -2 \\ (C - 2Ay)e^{-2y} - B & k = -2 \end{cases} \quad (\text{A.10})$$

$y \in \mathbf{R}$, where C is an arbitrary constant.

The following lemma gives a necessary condition for a function f to be a solution to Eq.(A.1) on I :

Lemma A.3 *Suppose that f is a solution to Eq.(A.1) on an open interval I such that f is one-to-one on I . Then*

$$f'(x)^2 = g(f(x)), \quad x \in I. \quad (\text{A.11})$$

Proof. Let $h(x) = f'(x)$, $x \in I$ and $y = f(x)$, $x \in I$. Then h can be regarded as a function of $y \in f(I)$ and

$$f'' = \frac{dh}{dx} = \frac{dh}{dy} h.$$

Hence Eq.(A.1) gives

$$h \frac{dh}{dy} + h^2 + Ae^{ky} + B = 0.$$

Let $u(y) = h^2(x)$ with $y = f(x)$. Then we have

$$\frac{du}{dy} = -2u - 2(Ae^{ky} + B). \quad (\text{A.12})$$

Hence $u(y) = g(y)$ with C being an arbitrary constant. Thus (A.11) holds for all $x \in I$. $\square$

B General forms of solutions

A sufficient condition for Eq.(A.1) to have a solution is given in the following lemma:

Lemma B.1 *Let f be a twice differentiable function on an open interval I such that*

$$f'(x)^2 = g(f(x)), \quad x \in I. \quad (\text{B.1})$$

Suppose that $f'(x) \neq 0$ for all $x \in I$. Then f is a solution to Eq.(A.1) on I .

Proof. By (B.1), $2f''(x)f'(x) = f'(x)g'(f(x))$, $x \in I$. Hence $2f''(x) = g'(f(x))$, which implies that

$$f''(x) + f'(x)^2 = \frac{1}{2}g'(f(x)) + g(f(x)). \quad (\text{B.2})$$

By (A.12) with $u = g$, the right hand side of (B.2) is equal to $-Ae^{kf(x)} - B$. Thus f satisfies (A.1). $\square$

Lemma B.2 *Let f_+ be a twice differentiable function on $(0, L)$ such that*

$$f'_+(x)^2 = g(f_+(x)), \quad x \in (0, L), \quad (\text{B.3})$$

and $f'(x) \neq 0$ for all $x \in (0, L)$. Suppose that $f_+(0) := \lim_{x>0, x \rightarrow 0} f_+(x)$ exists and $\lim_{x>0, x \rightarrow 0} f'_+(x) = 0$. Let

$$f(x) = \begin{cases} f_+(x) & x \in [0, L) \\ f_+(-x) & x \in (-L, 0) \end{cases} \quad (\text{B.4})$$

Then f is a solution to Eq.(A.1) on $(-L, L)$.

Proof. This follows from Lemma B.1 and Lemma A.2. $\square$

Proposition B.3 *Let $G(y)$ be a primitive function of either $1/\sqrt{g(y)}$ or $-1/\sqrt{g(y)}$ on*

$$D_g^+ := \{y \in \mathbf{R} | g(y) > 0\}. \quad (\text{B.5})$$

(i) *For every open interval $J \subset D_g^+$, $G^{-1}(x)$ is a solution to Eq.(A.1) on $G(J)$.*

(ii) *Suppose that there exists an open interval $J \subset D_g^+$ such that $G(J) = (0, L)$ and*

$$G^{-1}(0) := \lim_{x \downarrow 0} G^{-1}(x) \text{ exists and } g(G^{-1}(0)) = 0. \quad (\text{B.6})$$

Then the function

$$f(x) := \begin{cases} G^{-1}(x) & x \in [0, L) \\ G^{-1}(-x) & x \in (-L, 0) \end{cases} \quad (\text{B.7})$$

is a solution to Eq.(A.1) on $(-L, L)$.

Proof. (i) Let $f(x) = G^{-1}(x)$, $x \in G(J)$. Then $G(f(x)) = x$. Hence $G'(f(x))f'(x) = 1$, which implies that $f'(x)^2 = g(f(x))$, $x \in J$. Hence, by Lemma B.1, f is a solution to Eq.(A.1).

(ii) Let $f_+(x) = G^{-1}(x)$, $x \in (0, L)$. Then, as in part (i), f_+ is a solution to Eq.(A.1) on $(0, L)$. Let (B.6) be satisfied. Then

$$\lim_{x>0, x \rightarrow 0} f'_+(x)^2 = g(G^{-1}(0)) = 0.$$

Hence, applying Lemma B.2, we see that f is a solution to Eq.(A.1) on $(-L, L)$. $\square$

C Classification of solutions (I): The case $k > 0$

Using Proposition B.3, we can classify solutions to Eq.(A.1).

We first note the following fact:

Lemma C.1 (i) *Let $k \neq -2$. Then g' has a zero if and only if $kc(A, k)C > 0$. In that case, the zero is unique and given by*

$$a_0 := \frac{1}{k+2} \log \frac{2C}{kc(A, k)}. \quad (\text{C.1})$$

(ii) *Let $k = -2$. Then g' has a unique zero given by*

$$b_0 := \frac{A+C}{2A} \quad (\text{C.2})$$

Proof. We have

$$g'(y) = \begin{cases} kc(A, k)e^{ky} - 2Ce^{-2y} & k \neq -2 \\ -2(A+C-2Ay)e^{-2y} & k = -2 \end{cases} \quad (\text{C.3})$$

This implies the desired results. $\square$

For a constant $c \in \mathbf{R}$ such that $g(y) \geq 0$ for all $y \geq c$, we set

$$L_c^+ := \int_c^\infty \frac{1}{\sqrt{g(y)}} dy. \quad (\text{C.4})$$

For a constant $d \in \mathbf{R}$ such that $g(y) \geq 0$ for all $y \leq d$, we set

$$L_d^- := \int_{-\infty}^d \frac{1}{\sqrt{g(y)}} dy. \quad (\text{C.5})$$

In what follows in this section, we assume that

$$k > 0. \quad (\text{C.6})$$

C.1 The case $c(A, k) > 0$, $C < 0$

In this case g is strictly monotone increasing with $g(y) \sim c(A, k)e^{ky} \sim \infty$ as $y \rightarrow \infty$ and $g(y) \sim Ce^{-y} \sim -\infty$ as $y \rightarrow -\infty$. Hence g has a unique zero $y_0 \in \mathbf{R}$ satisfying

$$c(A, k)e^{ky_0} + Ce^{-2y_0} = B. \quad (\text{C.7})$$

Moreover $g(y) > 0$ for all $y > y_0$, and $g(y) < 0$ for all $y < y_0$. Since $kc(A, k)C < 0$ $g'(y_0) \neq 0$ by Lemma C.1-(i). It follows that $L_{y_0}^+$ is finite. Let

$$G_{y_0,+}(y) := \int_{y_0}^y \frac{1}{\sqrt{g(t)}} dt, \quad y \geq y_0, \quad (\text{C.8})$$

where, for all $c \in \mathbf{R}$, we set $\int_c^c (\cdot) dy := 0$. Then $G_{y_0,+}([y_0, \infty)) = [0, L_{y_0}^+)$ and $\lim_{x \downarrow 0} G_{y_0,+}^{-1}(x) = G_{y_0,+}^{-1}(0) = y_0$. Hence, by Proposition B.3-(ii), the function

$$f(x) := \begin{cases} G_{y_0,+}^{-1}(x) & x \in [0, L_{y_0}^+) \\ G_{y_0,+}^{-1}(-x) & x \in (-L_{y_0}^+, 0) \end{cases} \quad (\text{C.9})$$

is a solution to Eq.(A.1) on $(-L_{y_0}^+, L_{y_0}^+)$.

C.2 The case $c(A, k) < 0$, $C > 0$

In this case g is strictly monotone decreasing with $g(y) \sim c(A, k)e^{ky} \sim -\infty$ as $y \rightarrow \infty$ and $g(y) \sim Ce^{-2y} \sim \infty$ as $y \rightarrow -\infty$. Hence g has a unique zero $y_0 \in \mathbf{R}$ satisfying (C.7). The function

$$G_{y_0,-}(y) := \int_y^{y_0} \frac{1}{\sqrt{g(t)}} dt, \quad y \leq y_0 \quad (\text{C.10})$$

is a primitive function of $-1/\sqrt{g(t)}$ on $(-\infty, y_0)$. The integral $L_{y_0}^-$ is finite. As in the preceding case, the function

$$f(x) := \begin{cases} G_{y_0,-}^{-1}(x) & x \in [0, L_{y_0}^-) \\ G_{y_0,-}^{-1}(-x) & x \in (-L_{y_0}^-, 0) \end{cases} \quad (\text{C.11})$$

is a solution to Eq.(A.1) on $(-L_{y_0}^-, L_{y_0}^-)$.

C.3 The case $c(A, k) > 0$, $C > 0$

In this case g' has a unique zero a_0 satisfying (C.1). The function g is strictly monotone increasing on $[a_0, \infty)$ and strictly monotone decreasing on $(-\infty, a_0)$ with $g(y) \sim c(A, k)e^{ky} \sim \infty$ as $y \rightarrow \infty$ and $g(y) \sim Ce^{-2y} \sim \infty$ as $y \rightarrow -\infty$. We consider the cases $g(a_0) < 0$ and $g(a_0) > 0$ separately.

(a) The case $g(a_0) < 0$

In this case, g has only two zeros. We denote them y_1 and y_2 respectively with $y_1 < y_2$. The integral $L_{y_1}^+$ is finite. Let

$$G_1(y) := \int_{y_1}^y \frac{1}{\sqrt{g(t)}} dt, \quad y \geq y_1. \quad (\text{C.12})$$

Then the function

$$f_1(x) := \begin{cases} G_1^{-1}(x) & x \in [0, L_{y_1}^+) \\ G_1^{-1}(-x) & x \in (-L_{y_1}^+, 0) \end{cases} \quad (\text{C.13})$$

is a solution to Eq.(A.1) on $(-L_{y_1}^+, L_{y_1}^+)$.

The integral $L_{y_2}^-$ is finite. Let

$$G_2(y) := \int_y^{y_2} \frac{1}{\sqrt{g(t)}} dt, \quad y \leq y_2. \quad (\text{C.14})$$

Then the function

$$f_2(x) := \begin{cases} G_2^{-1}(x) & x \in [0, L_{y_2}^-) \\ G_2^{-1}(-x) & x \in (-L_{y_2}^-, 0) \end{cases} \quad (\text{C.15})$$

is a solution to Eq.(A.1) on $(-L_{y_2}^-, L_{y_2}^-)$.

(b) The case $g(a_0) > 0$

In this case $g(y) > 0$ for all $y \in \mathbf{R}$. Let

$$G_+(y) := \int_c^y \frac{1}{\sqrt{g(t)}} dt, \quad (\text{C.16})$$

where c is an arbitrary real constant. Then $G_+^{-1}(x)$ is a solution to Eq.(A.1) on $(0, L_c^+)$.

Let

$$G_-(y) := \int_y^c \frac{1}{\sqrt{g(t)}} dt, \quad (\text{C.17})$$

where c is an arbitrary real constant. Then $G_-^{-1}(x)$ is a solution to Eq.(A.1) on $(0, L_c^-)$. Note that $L_c^\pm < \infty$.

C.4 The case $c(A, k) < 0$, $C < 0$

In this case, if $g(a_0) < 0$, then $g(y) < 0$ for all $y \in \mathbf{R}$. Hence we consider only the case $g(a_0) > 0$. In this case g has only two zeros. We denote them w_1 and w_2 respectively with $w_1 < w_2$. We have that $g(y) > 0$ if and only if $w_1 < y < w_2$.

Let

$$G_{w_1}(y) := \int_{w_1}^y \frac{1}{\sqrt{g(t)}} dt, \quad w_1 \leq y \leq w_2. \quad (\text{C.18})$$

Then the function

$$f_{w_1}(x) := \begin{cases} G_{w_1}^{-1}(x) & x \in [0, G_{w_1}(w_2)) \\ G_{w_1}^{-1}(-x) & x \in (-G_{w_1}(w_2), 0) \end{cases} \quad (\text{C.19})$$

is a solution to Eq.(A.1) on $(-G_{w_1}(w_2), G_{w_1}(w_2))$.

Let

$$G_{w_2}(y) := \int_y^{w_2} \frac{1}{\sqrt{g(t)}} dt, \quad w_1 \leq y \leq w_2. \quad (\text{C.20})$$

Then the function

$$f_{w_2}(x) := \begin{cases} G_{w_2}^{-1}(x) & x \in [0, G_{w_2}(w_1)) \\ G_{w_2}^{-1}(-x) & x \in (-G_{w_2}(w_1), 0) \end{cases} \quad (\text{C.21})$$

is a solution to Eq.(A.1) on $(-G_{w_2}(w_1), G_{w_2}(w_1))$.

C.5 The case $C = 0$

In this case a primitive function $G(y)$ of $\pm 1/\sqrt{g(y)}$ can be explicitly computed in the form

$$G(y) = \tanh_q^{-1} \alpha \sqrt{|B| - |c(A, k)|e^{ky}},$$

with α being a constant and $q > 0$ is arbitrary. As a result, we see that, for all $t \in \mathbf{R} \setminus \{0\}$, the function

$$f(x) := \frac{1}{k} \log \frac{4t^2 q}{|c(A, k)|k^2} + \frac{2}{k} \log \operatorname{sech}_q tx \quad (\text{C.22})$$

is a solution to Eq.(A.1) on $\mathbf{R}$ with $B = -4t^2/k^2$ if

$$A(k+2) > 0. \quad (\text{C.23})$$

This is a *global* solution.

D Classification of solutions (II): The case $k < 0$, $k \neq -2$

Throughout this section, we assume that

$$k < 0, \quad k \neq -2. \quad (\text{D.1})$$

D.1 The case $c(A, k) > 0$, $C < 0$

In this case, by Lemma C.1, g' has a unique zero a_0 given by (C.1). We only present a solution in the case where $-2 < k < 0$ and $B < 0$. In this case, g is strictly monotone increasing in $(-\infty, a_0)$ and strictly monotone decreasing in (a_0, ∞) with $g(y) \rightarrow -B > 0$ as $y \rightarrow \infty$ and $g(y) \sim -|C|e^{-2y} \sim -\infty$ as $y \rightarrow -\infty$. Hence g has a unique zero y_0 satisfying (C.7) and $g(y) > 0$ for all $y > y_0$. Hence we can define

$$G(y) := \int_{y_0}^y \frac{1}{\sqrt{g(t)}} dt, \quad y \geq y_0. \quad (\text{D.2})$$

We have $G([y_0, \infty)) = [0, \infty)$ with $g(G^{-1}(0)) = g(y_0) = 0$. Thus, by Proposition B.3-(ii), the function

$$f(x) := \begin{cases} G^{-1}(x) & x \in [0, \infty) \\ G^{-1}(-x) & x \in (-\infty, 0) \end{cases} \quad (\text{D.3})$$

is a solution to Eq.(A.1) on $\mathbf{R}$. This is a global solution.

Other cases for (k, B) produce only local solutions.

D.2 The case $c(A, k) < 0$, $C > 0$

In this case too, by Lemma C.1, g' has a unique zero a_0 given by (C.1).

Let $k > -2$ and $B < 0$. Then g is strictly monotone increasing in (a_0, ∞) and strictly monotone decreasing in $(-\infty, a_0)$ with $g(y) \rightarrow -B > 0$ as $y \rightarrow \infty$ and $g(y) \sim Ce^{-2y} \sim \infty$

as $y \rightarrow -\infty$. Let $g(a_0) < 0$. Then g has only two zeros. We denote them by y_1 and y_2 respectively ($y_1 < y_2$) and define

$$G(y) := \int_{y_2}^y \frac{1}{\sqrt{g(t)}} dt, \quad y \geq y_2. \quad (\text{D.4})$$

We have $G([y_2, \infty)) = [0, \infty)$ and the function f given by (D.3) is a solution to Eq.(A.1) on $\mathbf{R}$.

Let $k < -2$ and $B < 0$. Then g is strictly monotone decreasing in (a_0, ∞) and strictly monotone increasing in $(-\infty, a_0)$ with $g(y) \rightarrow -B > 0$ as $y \rightarrow \infty$ and $g(y) \sim c(A, k)e^{ky} \sim -\infty$ as $y \rightarrow -\infty$. Hence g has a unique zero y_0 . Let

$$G(y) := \int_{y_0}^y \frac{1}{\sqrt{g(t)}} dt, \quad y \geq y_0. \quad (\text{D.5})$$

Then we have $G([y_0, \infty)) = [0, \infty)$ and the function f given by (D.3) is a solution to Eq.(A.1) on $\mathbf{R}$.

D.3 The case $c(A, k) > 0$, $C > 0$

In this case we have $g'(y) < 0$ for all $y \in \mathbf{R}$. Hence g is strictly monotone decreasing with $g(y) \rightarrow -B$ as $y \rightarrow \infty$ and $g(y) \rightarrow \infty$ as $y \rightarrow -\infty$. Then we see that the present case produces only local solutions to Eq.(A.1). We omit them writing them down here.

D.4 The case $c(A, k) < 0$, $C < 0$

In this case we have $g'(y) > 0$ for all $y \in \mathbf{R}$. Hence g is strictly monotone increasing with $g(y) \rightarrow -B$ as $y \rightarrow \infty$ and $g(y) \rightarrow -\infty$ as $y \rightarrow -\infty$. Hence, if $B < 0$, then g has a unique zero y_0 . Let $B < 0$ and define

$$G(y) := \int_{y_0}^y \frac{1}{\sqrt{g(t)}} dt, \quad y \geq y_0. \quad (\text{D.6})$$

Then $G([y_0, \infty)) = [0, \infty)$ and the function f given by (D.3) is a solution to Eq.(A.1) on $\mathbf{R}$.

D.5 The case $C = 0$

In this case, if $B < 0$ and $c(A, k) < 0$, then a global solution to Eq.(A.1) is given in the same form as in (C.22)

E Classification of solutions (III): The case $k = -2$

In this case g' has a unique zero b_0 given by (C.2).

E.1 The case $A < 0$

In this case, g is strictly monotone increasing on $(-\infty, b_0)$ and strictly monotone decreasing on (b_0, ∞) with $g(y) \rightarrow -B$ as $y \rightarrow \infty$ and $g(y) \rightarrow -\infty$ as $y \rightarrow -\infty$.

Let $B < 0$. Then g has a unique zero z_0 satisfying

$$(C - 2Az_0)e^{-2z_0} = B. \quad (\text{E.1})$$

Let

$$G(y) := \int_{z_0}^y \frac{1}{\sqrt{g(t)}} dt, \quad y \geq z_0. \quad (\text{E.2})$$

Then $G([z_0, \infty)) = [0, \infty)$ and the function f given by (D.3) is a solution to Eq.(A.1) on $\mathbf{R}$.

E.2 The case $A > 0$

In this case, g is strictly monotone increasing on (b_0, ∞) and strictly monotone decreasing on $(-\infty, b_0)$ with $g(y) \rightarrow -B$ as $y \rightarrow \infty$ and $g(y) \rightarrow \infty$ as $y \rightarrow -\infty$.

Let $B < 0$ and $g(b_0) < 0$. Then g has only two zeros z_1 and z_2 ($z_1 < z_2$). Let

$$G(y) := \int_{z_2}^y \frac{1}{\sqrt{g(t)}} dt, \quad y \geq z_2. \quad (\text{E.3})$$

Then $G([z_2, \infty)) = [0, \infty)$ and the function f given by (D.3) is a solution to Eq.(A.1) on $\mathbf{R}$.

References

- [1] Arai A., Exactly solvable supersymmetric quantum mechanics, *J. Math. Anal. Appl.*, 1991, V.158, 63–79.
- [2] Gendenshtein L. E., Derivation of exact spectra of the Schrödinger equation by means of supersymmetry, *JETP Lett.*, 1983, V.38, 356–359.
- [3] Hruby J., On SSQM and the $U(N)$ nonlinear Schrödinger equation, *J. Phys. A*, 1989, V.22, 1807–1818.
- [4] Lévai G., A search for shape-invariant potentials, *J. Phys. A*, 1989, V.22, 689–702.
- [5] Witten E., Dynamical breaking of supersymmetry, *Nuclear Phys. B*, 1981, V.185, 513–554.